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»""w9 explained that %Xprr> did not write his 252 because he was in
TORD I,

OVERVIEW
The RXn>92 relates that the 2"712 *WIR wrote 2Xp1>. >"w explains that PXpr> did not
write his 990 since he was in 5"1. Our M0N0 challenges this explanation.

nooIN asks:
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And there is a difficulty with this explanation, for 179»9 was also in 2", for he
went to 2°9x%», and prophesied there many NNz -
ZHNIYI YINY 900 ATNY 19581 N9

And we do not find that he returned to 3''X and nevertheless he wrote his 750, as well
as other 0o, presumably in 2"1; why is P&p1 different? Moo does not answer this question.3

SUMMARY
717 seemingly wrote his 0°790 in 2",

THINKING IT OVER
If the o°X"21 were able to say nX121 in 2"w1, why could they not write the 7X3121 in
o"Mn?

" moon is citing a 7" that references a X3 that precedes the X3 of the previous v 71"7 'oI.
2 See 7°,71 7177 2w and Rnp NIR WA 2T
? See y"ay.
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